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Chapter 4 
Chapter Test A

Multiple Choice

1.
C

2.
C

3.
B
4.
A

5.
D

6.
B

7.
A

8.
D

9.
C

10.
B

Modified True/False

11.
F, individual
12.
F, population
13.
T
14.
T
15.
F, random
Completion

16.
sex ratio.
17.
abiotic
18.
immigration
19.
resources
20.
low
Short Answer

21.
Disease transmission could become a problem for the elk. So could competition for limited resources. On the other hand, it will be easier for elk to find mates and defend themselves from predators.
22.
Individual, population, community, ecosystem, biosphere.
23.
They display a type III survivorship pattern, because the young have a higher mortality rate than the adults.
24.
The future of the species is not good. Because they are monogamous, they need an even sex ratio to maintain their population. If the species were not monogamous then it would be a less serious problem, because a single male could mate with multiple females.
25.
(22+4) – (12+7) = 7/100, or 70/1000
Other

26.
diagram A
27.
population C.
28.
population A, which is poised to experience exponential growth, because it has so many young individuals
29.
population B, because it is stable
30.
1. The sex ratio is skewed. Maybe introduce some female deer from another population.


2. Study the fox population to see if they might be eating fawns, and then control it if they are.


3. Find a way to build a crossing structure so that the deer from all three populations can move from one refuge to the others, so that the overall population will survive.
Essay 

31.
During this period, cities became densely populated and trade increased, so any given disease could pass quickly from individual to individual and from city to city, making entire human populations susceptible. Thus, population density and trade between cities allowed the rapid spread of diseases that took a tremendous toll on Europe’s human population.
32.
To understand what is happening with the rabbit population, you will have to study the entire ecosystem, since any number of factors could be involved in the decline, including predators, a decline in the rabbit’s food source, or changes in pollutants, for example. But you will also have to study the individual and population scales, to assess the cause of the decline in terms of population dynamics,; and look at birthrate, death rate, and incidence of disease. In studying at these levels, you will also be studying the community level to understand how the rabbits are interacting with other living organisms in their environment.
33.
A population might grow according to the number of offspring it is capable of producing in a given amount of time. If a population has a short generation time, it could grow quickly, but if it has a longer generation time, it would naturally grow more slowly. Even in a population with high biotic potential, however, available resources and the presence of factors such as predators or disease will limit growth. In addition, catastrophic disasters such as hurricanes, floods, or fires might take a toll on the population regardless of its biotic potential or available resources. 
34.
Many people use wildlife and wild plants as resources. Some people hunt, so it is important to monitor the population size of hunted species. Likewise, people use plant resources such as trees, so we need to monitor the population of wild tree species. Many people also value biodiversity as an indicator of ecosystem health, or simply enjoy seeing wildlife. It is important to monitor the population to make sure that species persist so that society has these opportunities and ecosystems remain healthy. Some species have the potential to become pests, so keeping track of these populations is important to prevent problems.
35.
The long-term slow population growth represents humans living with limiting factors such as disease and a limited amount of food. The sudden spike in population represents an increase in available resources and a removal of limiting factors -- such as control of disease and increased agricultural production. Since most populations can only experience exponential growth for a limited time, population growth will probably stabilize in the future.
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